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15 d/u)=0.002(QV +100 +3000):
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The boat retake 30m to stop. Findthe speedoIH was travelling atHus
30 Idly)
u?

This is an equation on 5ï.d(v)=30
2FoodQV+100+3000)=30

.

J } 20+100+3000 =15000
/ = O20'+100-17000



202 (orI - 112000=0

We solve for w why thequadrati formula
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16)How can we graph fixt =QXZ.4x.30
withhat usingtable of valvesl nora graphingcalculator

.
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x yAnti: let's rewritefix) infactorform orin vertex form
1) Factor Form

_
:

I)whiteaefit(x7=0
24×2-45×-30= 0

Il) Find x-interceptsby solving.
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= -3

fix)=a(x-d)(x-e)

= ¢
the



III) Determine aI I
: look fory-intercept.

flo)= 2.07-4.0- 30 =-30

ïsubstituting
onfallpartialb factor tom

a (05)(0+3)5-30

-9 (5)3=-30

~15a=30

a -358˜-2][

Now veV know

f/x)=2/X-5)\X+3)
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location of vertex?
XVF_is = l

1
fix.) = fii)=2.1?4.1.30= 5-32
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